

Date:

Sub:

۱۴، ۳، ۱۱، ۲۳

سپتامبر ۲۳

۱۵/۲۵

هانی کوشیان

دانشمرد فخر A

۱۴

سوال چهارم

$$\text{خط } y + ax = 2 \xrightarrow{m=4} \text{مائل}, f(4) + f'(4) = -1$$

$$y = -ax + 2$$

$$\left. \begin{array}{l} f(4) = -4a + 2 \\ f'(4) = -a \end{array} \right\} \Rightarrow \begin{array}{l} -4a + 2 - a = -1 \\ -5a = -3 \end{array}$$

$$a = \frac{3}{5} \Rightarrow f'(4) = -\frac{3}{5}$$

$$y = \frac{x+a}{v} \Rightarrow \frac{ax-1}{x_m-1}$$

۵
سوال
پنج

برای نقطه‌های این دو باریک فقط جواب مشترک داریم

$$\frac{x+a}{v} = \frac{ax-1}{x_m+1} \Rightarrow (x+a)(x_m+1) = v(ax-1) \Rightarrow$$

$$x_m^2 + (14-7a)x + 14 = 0 \Rightarrow \Delta = 0 \Rightarrow (14-7a)^2 - 4(2)(14) = 0 \Rightarrow (14-7a)^2 = 112$$

برای صاف بودن

$$\Rightarrow (14-7a)^2 = 112 \Rightarrow \begin{array}{l} \text{① } 14-7a = 12 \rightarrow a = \frac{2}{7} \\ \text{② } 14-7a = -12 \rightarrow a = 4 \end{array}$$

چون فقط دو صورت سوال
در اعداد صحیح منتهیات

$$x_0 = \frac{7a-14}{4}$$

$$x_0 = 2 \rightarrow a = 4$$

✓

Date:

Sub:

$$g(u) = f(\tan^r u + \sqrt{r} \cos u)$$

والى

$$g'\left(\frac{\pi}{r}\right) = \sqrt{r} \quad f'(r) = ? \quad u(u) = \tan^r u + \sqrt{r} \cos u \Rightarrow$$

$$g(u) = f(u(u)) \Rightarrow g'(u) = f'(u(u)) \cdot u'(u) \Rightarrow u\left(\frac{\pi}{r}\right) \Rightarrow \tan\left(\frac{\pi}{r}\right) = 1$$

$$\cos\left(\frac{\pi}{r}\right) = \frac{\sqrt{r}}{r}$$

$$u'\left(\frac{\pi}{r}\right) = (1)^r + \sqrt{r} \cdot \frac{\sqrt{r}}{r} = 1 + 1 = 2 \Rightarrow g'\left(\frac{\pi}{r}\right) = f(r) \cdot u'\left(\frac{\pi}{r}\right)$$

$$\Rightarrow u'(u) = \tan^r u + \sqrt{r} \cos u \Rightarrow \frac{d}{du} (\tan^r u) = r \tan^{r-1} u \sec^2 u$$

$$\frac{d}{du} (\sqrt{r} \cos u) = -\sqrt{r} \sin u \Rightarrow u(u) = r \tan^{r-1} u \sec^2 u - \sqrt{r} \sin u$$

(2)

$$\Rightarrow u = \frac{\pi}{r} \Rightarrow \tan \frac{\pi}{r} = 1 \quad \sec \frac{\pi}{r} = \frac{1}{\cos \frac{\pi}{r}} = \sqrt{r} \Rightarrow \sec^r \frac{\pi}{r} = r$$

$$\sin \frac{\pi}{r} = \frac{\sqrt{r}}{r} \quad u\left(\frac{\pi}{r}\right) = r(1)(r) - \sqrt{r} \cdot \frac{\sqrt{r}}{r} = r - 1 = r$$

$$g'\left(\frac{\pi}{r}\right) = f'(r) \cdot r \Rightarrow \sqrt{r} = r f'(r) \rightarrow \boxed{f'(r) = \frac{\sqrt{r}}{r}}$$

✓

$$f(u) = \frac{1 + \cos^r u}{r - \cos^r u} \xrightarrow{\cos u = t} f(t) = \frac{1 + t^r}{r - t^r}$$

(1)

$$g(u) = \frac{r}{r - \cos u} \Rightarrow g(t) = \frac{r}{r - t}$$

$$\frac{d}{du} f(t) = f'(t) \cdot t'$$

Elipon

Date:

Sub:

$$t = -\sin u \Rightarrow f(u) = -\sin u f(t)$$

$$g(u) = -\sin u g(t)$$

$$f(u) - r g(u) = -\sin u (f(t) - r g(t)) \xrightarrow{t \rightarrow 0} f(t) = \frac{1+t^r}{r-t^r} \Rightarrow f'(t) =$$

$$\frac{r t^r (r-t^r) - (1+t^r)(-r t^{r-1})}{(r-t^r)^2} = \frac{r t^r - r t^{2r} + r t^{r-1} + r t^{2r-1}}{(r-t^r)^2} = \frac{r t^r + r t^{r-1} - t^{2r}}{(r-t^r)^2}$$

$$f'(t) = \frac{r t^r + r t^{r-1} - t^{2r}}{(r-t^r)^2}$$

$$g(t) = \frac{r}{r-t} = r(r-t)^{-1}$$

$$g'(t) = \frac{r}{(r-t)^2}$$

(y)

$$u = \frac{\sqrt{r}}{y}$$

$$r \sin u = -\frac{\sqrt{r}}{y} \Rightarrow t = -\frac{\sqrt{r}}{y} \quad \sin u = -\frac{1}{y}$$

$$f - r g = -\sin u (f(t) - r g(t)) = \frac{1}{y} \underbrace{(f(t) - r g(t))}_{-1} = -\frac{1}{y}$$

$$f(u) = |r_u - r| \sqrt{a u} \quad u = \frac{r}{r}$$

$$r_u - r = 0 \rightarrow u = \frac{r}{r}$$

$$r < u < \frac{r}{r} \quad \text{ست} \quad \text{ست}$$

$$|r_u - r| = r_u - r \Rightarrow f(u) = (r_u - r) \sqrt{a u}$$

$$\Rightarrow r_u - r = 0 \rightarrow f(u) = 0 \rightarrow f + (u) = (r) \sqrt{a u_0}$$

Elipon

ست عیب $m < \frac{3}{2}$

$$|f_m - f| = -(f_m - f) = f - f_m$$

$$f(m) = (f - f_m)\sqrt{a_m} \Rightarrow f_-(m_0) = (-f)\sqrt{a_m}$$

اختلاف سببها

$$|f_+ - f_-| = |f\sqrt{a_m} - (-f\sqrt{a_m})| = 1\sqrt{a_m}$$

جایگزینی $a_0 = \frac{3}{2}$

$$1\sqrt{a_m} = 2\sqrt{4}$$

$$1\sqrt{a \cdot \frac{3}{2}} = 2\sqrt{4} \Rightarrow 2\sqrt{3a} = 2\sqrt{4} \rightarrow 2\sqrt{3a} = \sqrt{4} \Rightarrow 4(3a) = 4$$

$$12a = 4$$

$$a = \frac{1}{3}$$

$$f(m) = m^r + am - b \quad u = r \quad b - a = ?$$

و 4)

$$f(1) = 0 \Leftarrow \text{موقع } m = 1 \text{ جایگزینی}$$

$$f(1) = 1^r + 1a - b = 0 \Rightarrow 1 + 1a - b = 0 \Rightarrow b = 1 + 1a$$

$$f(m) = m^r + a \Rightarrow f(1) = 1^r + a = 0 \Rightarrow 1 + a = 0 \Rightarrow a = -1$$

$$b = 1 + 1(-1) = -1$$

$$b - a = -1 - (-1) = \boxed{-1}$$

Date:

Sub:

$$f(n) = \frac{\sqrt{n} + 1}{\sqrt{n} - 1} \quad (f^{-1})(a) = \frac{1}{f(n_0)} \quad (1 \text{ ج } 9)$$

$$f^{-1}(a) = \left(\frac{a+1}{a-1}\right)^2 \rightarrow (f^{-1})' = 2 \left(\frac{a+1}{a-1}\right) \times \frac{-2}{(a-1)^2} \rightarrow (f^{-1})'(1) = 2 \times 2 \times (-1) = -4$$

$$f(n_0) = a$$

$$\frac{\sqrt{n} + 1}{\sqrt{n} - 1} = 2 \quad t = \sqrt{n} \quad \frac{t+1}{t-1} = 2 \quad t+1 = 2t-2$$

$$\boxed{t=3}$$

$$n_0 = t^2 = 9 \quad t = \sqrt{n} \quad f = \frac{t+1}{t-1}$$

(1, 8)

$$\frac{df}{dt} = \frac{(t-1)(t+1)}{(t-1)^2} = \frac{-2}{(t-1)^2} \quad \frac{dt}{dn} = \frac{1}{2\sqrt{n}} = \frac{1}{2t}$$

$$f(n) = \frac{dt}{dn} \cdot \frac{dn}{dt} = \frac{-2}{(t-1)^2} \cdot \frac{1}{2t} = \frac{-1}{t(t-1)^2}$$

$$\Rightarrow f(9) = \frac{-1}{3(2)^2} = \boxed{-\frac{1}{12}} \quad (f^{-1})(1) = \frac{1}{f(9)} = \frac{1}{-\frac{1}{12}} = -12$$

$f'(n) \rightarrow \text{value} \rightarrow (f^{-1})' = -12$

$$[1, 0] \quad f(a) = \frac{f(1) - f(-1)}{1 - (-1)} = \frac{1 - (-1)}{2} = \frac{1 - (-1 + 1)}{2} = \frac{1 - (-1 + 1)}{2} = 1a - 1 = -1 \rightarrow \begin{cases} a = \frac{1}{2} \\ x = 1 \end{cases}$$

$$f'(a) = 2(n)(a+1)^2(a-1) + a(a+1)^2 \xrightarrow{a=1} 2(2)(1+1)^2(1-1) + 1(1+1)^2 = 4$$

$$\begin{cases} y_1\left(\frac{\pi}{4}\right) = \sin\left(\frac{\pi}{4}\right)\cos\left(\frac{\pi}{4}\right) = 0 \\ y_2\left(\frac{\pi}{4}\right) = \sin\left(\frac{\pi}{4}\right)\cos\left(\frac{\pi}{4}\right) = -1 \end{cases} \rightarrow \frac{\Delta y_1}{\Delta x} = \frac{-1-0}{\frac{\pi}{4}-\frac{\pi}{4}} = \frac{-1}{0} = \frac{-f}{h}$$

$$\rightarrow \frac{\frac{\Delta y_1}{\Delta x}}{\frac{\Delta y_2}{\Delta x}} = \frac{-\frac{f}{h}}{\frac{f}{h}} = -1$$

$$y_r = \sin^2 x - \cos^2 x = -\cos^2 x$$

$$\begin{cases} y_r\left(\frac{\pi}{4}\right) = -\cos^2\left(\frac{\pi}{4}\right) = 0 \\ y_r\left(\frac{\pi}{4}\right) = -\cos^2\left(\frac{\pi}{4}\right) = 1 \end{cases} \rightarrow \frac{\Delta y_r}{\Delta x} = \frac{1-0}{\frac{\pi}{4}-\frac{\pi}{4}} = \frac{f}{h}$$

Elipon